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. No cell phones, computers, etc.

Third Midterm Examination

18th November 2013

• No cheating.

• No notes, cheat sheets, books, etc.

• Write your name on each page.

• Show your work to get full credit.

• Make sure that what you write down is mathematically correct, e.g. don’t forget equal signs etc.

1 2 3: extra credit %

Possible points 25 25 10 50 + 10 100 + 20

Your points
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Math 1210 Name:

1 Using the techniques learned in class, graph the function given

by the equation:

f(x) = + 2x2.
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Math 1210

3 Consider a trapezium:

Name:

db

A a

The angles c and should be 45°. The sides b, c and d should sum
up to 28 meters:

b+c+d= 28m

How do we have to choose the height h in order to maximise the
area of the trapezium?

Hint: the area of a trapezium is calculated with the formula
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Math 1210 Name:

4 Consider all triangles with one fixed angle = 45C and fixed
sum b + C = 5.

How do we have to choose c to maximize the area?

Hint: the area of a triangle is

A= c•h.
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